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Describe a rigid transformation that you
could use to show the polygons are
congruent.
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The diagram shows three lines with some marked angle measures.

Find the missing angle measures marked with question marks.
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Quadrilateral ABC D is dilated with center (0, 0), taking Bto B'.Draw A’ B'C' D'.
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Triangle DEF is a dilation of triangle A BC with scale factor 2. In triangle ABC, the
largest angle measures 82°. What is the largest angle measure in triangle DEF?

A 41°
B. 82°
C. 123°
D. 164"
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The diagram shows two nested triangles that share a vertex. Find a center and a scale
factor for a dilation that would move the larger triangle to the smaller triangle.
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Of the three lines in the graph, one has slope 1, one has slope 2, and one has slope %
Label each line with its slope.
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Triangle A has side lengths 3, 4, and 5. Triangle B has side lengths 6, 7, and 8.

a. Explain how you know that Triangle B is not similar to Triangle A.

b. Give possible side lengths for Triangle B so that it is similar to Triangle A.




image1.png
Rectangle A measures 12 cm by 3 cm. Rectangle Bis a scaled copy of Rectangle A.
Select all of the measurement pairs that could be the dimensions of Rectangle B.

A. 6cmby1.5cm
. 10cmby2cm

B.

C. 13cmby4cm
D. 18cmby4.5cm
E

. 80 cm by 20 cm
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Rectangle A has length 12 and width 8. Rectangle B has length 15 and width 10.
Rectangle C has length 30 and width 15.

. Is Rectangle A a scaled copy of Rectangle B? If so, what is the scale factor?

a
b. Is Rectangle B ascaled copy of Rectangle A? If so, what is the scale factor?

o

. Explain how you know that Rectangle C is not a scaled copy of Rectangle B.

a

. Is Rectangle A a scaled copy of Rectangle C? If so, what is the scale factor?
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Which of these sets of angle measures could be the three angles in a triangle?

A 40°,50°, 60°
B. 50°,60°,70°
c. 607,707, 80°
D. 70,80, 90°
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In the picture lines AB and CD are parallel. Find the measures of the following angles.
Explain your reasoning.

a. ZBCD
b. ZECF
c. £DCF
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a. Dilate each vertex of triangle A BC using P as the center of dilation and a scale
factor of 2. Draw the triangle connecting the three new points.

b. Dilate each vertex of triangle A BC using P as the center of dilation and a scale
factor of % Draw the triangle connecting the three new points.




